MODULE 3
LESSON 2
QUIZ

1. Question. Which of the following is the solution of the equation
1
A= ih(a +b)d

for the variable b?

_ 2A+a
A, b= 2Ate
B.b:%—a

h
Cb:ﬂ—a

A
Db:ﬁ—a

Go to answer [I]

2. Question. Which of the following rational functions has the set

as its domain?

A. f(l‘) — x2-3z—10

z24+2x—15

B. f(l') — 22422—15

x2—3z—10
C. f(z)=vVa?2+2x—-15
D. f(z)=a*+22—15

Go to answer [2



3. Question. Which of the following describes the solution of the equation

x+1:x—|—3?
r—2 x—1
Alx=2orzx=-1
B.z=-5
C.x=—-lorx=-3
D.x=5

Go to answer

4. Question. Which of the following describes the solution of the equation

T x+27
xr xr—2 2¢

A.x=0o0rx=-2
Bzrz=2orz=0
C.x=1lorz=3
D.x=-2

Go to answer [



5. Question. A large tank can be filled through the filling pipe in 2 hours.
It takes 5 hours for the draining pipe to empty the tank completely.
Which of the following is the number of hours that it takes to fill the
tank when the both pipes are open?

A4l
1
B. 3!
C. 3}
2
D. 22

Go to answer



ANSWERS

1.

Answer to Question 1 is "B”.

Go back [Tl

. Answer to Question 2 is 7A”.

Go back 21

. Answer to Question 3 is "D”.

Go back 3

. Answer to Question 4 is "D”.

Go back [

. Answer to Question 5 is "B”.

Go back Al



